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QUESTION 1

Which of the following is/are the characteristic(s) of HDLC? 

A. HDLC supports point-to-point links. 

B. HDLC does not support IP address negotiation. 

C. HDLC does not support authentication. 

D. HDLC supports point-to-multipoint links. 

Correct Answer: ABC 

 

QUESTION 2

Which of the following statements about the "ip route-static 10.0.2.2 255.255.255.255 10.0.12.2 preference 20"
command is true? 

A. The destination network address of the route is 10.0.12.2/32. 

B. The mask length of the destination network address of the route is 32 bits. 

C. The preference of the route is 100. 

D. The route must exist in the routing table. 

Correct Answer: B 

 

QUESTION 3

Refer to the graphic. Two peering routers are running RIP. RTA is using RIPv1 to advertise its routes, while RTB is
using RIPv2. What effect will this have on learned routes? 

A. RTA and RTB will both learn the routes advertised by RIP. 

B. RTA will learn the RIP route advertised by RTB, however RTB is unable to learn the route advertised by RTA. 

C. RTB will learn the RIP route advertised by RTA, however RTA is unable to learn the route 

D. Neither RTA nor RTB are able to learn the RIP routes advertised by the peer. 

Correct Answer: B 

 

QUESTION 4

How many DUIDs can each DHCPv6 server have? 

A. 1 
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B. 4 

C. 2 

D. 3 

Correct Answer: A 

 

QUESTION 5

When configuring an AR2200 router as a PPPoE client, which of the following configurations is not required? 

A. Configure dialing rules 

B. Configure the dialer interface 

C. Configure an IP address on the dialer interface 

D. Configure the password on the dialer interface 

Correct Answer: C 
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